F77RIERARBERE /NFEUPUEEEDE
KEFRAREFEIREERS
BALT—TJ)L F1HE
1000 f MS1 | MS2 | MS3 | MS4 | GS 1
10:40 | BS1 | BS2 | BS3 | BS4 | WS 1
11:20 | MS5 | MD6 | MS7 | MS 8
1200 | GS2 | GS3 | GS4 | GS 5
1240 | WS2 | WS3 | BSS5 | BS6
13:20 | MS9 |MS10| GS6 | GS 7
1400 | WS4 | BS7
1440 ([MS 11| GS 8
B4 LT—TI)L _E2HE
1000y MD1 | MD2 | MD3 | MD 4
10:40 | GD 1 | GD 2
11:20 | MD 5 | MD 6
1200 | BD1 | WD 1
1240 | GD 3 | MD 7




4

v g B F H (BS)

T oM o,
(RRRARZFEHESR) (RARKREZEHRESK)
1 3
X B # X B R N,
(OEBRZE S 2 =7) (RRBRXEZHRESR)
5 7 6
s B R WA # £ % B
(RRBRREZEHESR) (RXBRXEZHRESR)
2 4
L B B OE toE EB Y
(RRBRREZEHESR) (RRBRXEZHRESR)

v £ B F & (BD)

thE H B} ‘ R & N
| R HIREL) (RARAZHEEL)

M Al 1 H N K M
EPNTPR TV To) (RARBRA BB



g & ¥ B (GS)

"

© ~ [e=] (=)
%m L ?m &w
H e a e B2 4B K e
# % # i
H & 1K =H
K K E K m K
. B B L H g
H_ = o _ oc

<

N
7~ —~ —~ =Y —~
fk « ot = e} » w* » (5l «
K v ja}, ¥ ) € 1] 1€ ¥ 1
# # # # #
H H H H H
Bk #® K igm Yk =1
Bl Bl Bl Bl Bl
=1 g 1 e _ KC_
— N ™ < [Ty)

g & ¥ # (GD)

/J,\

(4] <
i&ﬁ& ?&%&
] VB J E K TE g e

W #

Mo M Mo M
H kK K Brk¥k

B __ & SO
= WoHC
&m%m ?m%m
%Eﬁ% %E%E
R L
=W M BWw W
mESK KK

= = = =
LSRN [ N

—



(MS)

R £ B8 F H

~ o o e b o
B ﬁw . BT %i %i
A <
K K | Ex =) EK iy K

) *® o “@ “

# ® | ] =
M. Wwo 3 I omL g
, . i , ,
#”  wm?r z_ 22 gl w=

(3]
~ (=]
e
D
] ©

~ ~ e B g~ o ~
m$ H ﬂw = gk - -
O <

K o= “__AE_% ## K # K .z_____.K
E % 0 % S & o
m IR ® o #H ¥

. No I~ m H . i R
4 4 % R 2
fin _ R 2 KC K =
— N ™ < [Ty) ©

(MD)

B £ 5 F #&

[Te] © ~ [ee]
=~ o GO e o
oD ®oEl ﬁﬁﬁa Ry B
< < X <
Rim: KK | giEK EEHK
o o \$ ¥ M « M:/o
4, K///K tn_u”n_u \ﬂ,ﬁ 4
N B¢ L= gﬂﬁ _.P_HEA
#2333 =20 ”  wmtgD Tt
bRl R Lom~ g ekl

A < <
KE&K  #Kp - @K€ B

= &K @ « o o
o B B _ m o am ¢ ¥
i M3 H. B E

oK

&k K_= B I .
Wlae® wlz_ KIw®D wZz3

— N o <



B £ % ¥ B (WS)

[ E L o®| NEB R E,
(PLENTYGLOBALLINX) (PLENTYGLOBALLINX)
% O # F ) | 3
(mEB % EXF) 4
1
s R OEOE K o ZEF
(3 @ 8 K 2 ) (i & 8 K 2 )

B £ & ¥ #& (WD)

B E X ‘ B E B K

; (PLENTYGLOBALLINX) (7 & 8K ¥),
E L B & 1 kB FF
(PLENTYGLOBALLINX) (3 @ 8 K %)



